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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.

URC-U-Ssocy 1




wUE A
SECTION A

Q1. F=faRea ¥ A T 97 &1 IT W 150 wsat § difTg

Answer the following questions in about 150 words each :

(a)

(b)

(c)

(d)

(e)

Q2. (a)

(b)

(c)

URC-U-50CY

U & Ig # sifge et 3 forg ot Jmem fean 2 fag=mn hifso |

How did the intellectual forces lead to the emergence of sociology ?
Discuss.

w1 T U qea-fae famm 2 2 R i |

Is sociology a value-free science ? Discuss.

yonelt fasma faaml, frgr wa afseanadi b o Wt sgaeen 2, S e iy
= ¥ ¢eft 7 | oot hifrw |

Methodology is a system of rules, principles and procedures, which forms
scientific investigation. Comment.

T dF & ‘SN TEY WHRAS AT §, St gRdfasdal o STEY &
2 | 9 T &R

‘Ideal Types’ of Max Weber are mental constructs, they do not
correspond to the reality. Give your views.

aeifSies digds & otemEa d ‘ufowm wiEfdar it gEfiesar @ fawewo
HifSm |

Analyse the relevance of ‘Pattern variables’ in the study of social change.

IS AT & YhRidRe & 9 § 3.+, " H yfdfseand <= & 2
fafga vt <At Hiarsdi & IR § feugefi Hifve |

What are the reactions of R.K. Merton to the functionalism of social
anthropologists ? Bring out the limitations of latent functions.

AN & FURRU (TEHHYH) ¥ 9ghd @ afysewr e aw age siues
2 2 fademn fifv |

How are Hierarchy and Exclusion the major impediments in the
transformation of societies ? Discuss.

JSIIa=1 i TS 6l Toh =Fae & &9 § oy Hiw | uoEfifa § i
Trfieilt o U ITA R 41 § ?

Explain democracy as an order of society. What are the factors
preventing people’s participation in politics ?
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Q3. (a)
(b)
(c)

Q4. (a)
(b)
(c)
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1ot ifsa |

Capitalism has brought increasing informalisation of work in society.
Substantiate your answer. 20

gﬁq%mmﬁmsﬁw%mﬁ(mmmﬁ%ﬁw
w)aﬁxuﬁsﬁ{ﬁmmaﬂmﬁwsﬁmmwr&ﬁqmﬁ
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Critically analyse Durkheim’s views on elementary forms of religious life
and role of religion. Also discuss the consequences of religious revivalism
in contemporary society. 20

IMYfF AT T § TR yoneht w &t framg % aiomdt 6 =i Hifm |

Discuss the consequences of Across Region marriage on kinship system
in modern Indian society. 10

F1 WAl P, T we enfieht it g w ek 2 ? HEHRT & Tee
7 feomft Hifdm |

Is humanity at the mercy of Nature, Science and Technology ? Comment
in the light of pandemic situation. 20

@%m‘ﬁmmm@ﬂm%mﬁ@%ﬁwmm

? 1 fad=m A |

According to Durkheim, “The major function of education is the
transmission of society’s norms and values.” Discuss. 20

wﬁmvﬁsﬁwmm@gﬁwﬁ%mﬁmm
HifS |

Critically assess social mobility in closed and open systems. 10
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SECTION B

Q5. Fr=fafa # @ wee® T &1 IW T THA 150 vrsai # e
Answer the following questions in about 150 words each : 10x5=50

(a) o ST G % HEaE § ypveehe % g § aead o Wi R ?
feoquft SAifd |

In the context of globalisation, has the scope of sociology been changing
in India ? Comment. 10

(b) QTR The § qReeaeT % e Td ardl ) ==t HIT |

Discuss the importance and sources of hypothesis in social research. 10

(©) g@?ﬁ%ﬁmﬁ%wﬂwﬁma@%m@mﬁaﬁmwﬁw

What are the problems in observing social facts in Durkheim’s views ? 10
d @-mgﬁﬁmﬁﬁﬁﬁamﬁmmaﬁqémrﬁ%wvﬁws@@
HIfT |

State the reasons for the various religious beliefs and practices in
pre-modern societies. 10

(e) o7 i T o faare o e andt off ufe w9 @ 9 feuqeft hifs |

Does the institution of marriage continue to be sacred in Indian society ?
Comment. 10

Q6. (a) qianlﬂ%maﬁﬁﬁéﬂﬁﬁﬂaﬂtsﬂ%mﬁaﬂm@aﬂm

iRl W YeY aTe Wl & v HIT |

Discuss the new labour codes and their impact on formal and informal

labour in India. 20
b)) Trew & JTER, “Ryfrse at TregmTa gfe @ e e ® 7 6 S gk

q |” feoaeft K |

According to Mills, “Elites rule in institutional terms rather than

psychological terms.” Comment. 20
(c) mmﬁmﬁmmﬁmﬁﬁmﬁwﬁw

iR |

Analyse the strengths and weaknesses of social survey method in social

research. 10
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Q7. (a)
(b)
(c)
Q8. (a)
(b)

(c)
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Wenfieht 3 wifa we ffwar i i =t sgen fan @ | fdsm it

Technology has accelerated the process of development and dependency.
Discuss.

USE § U Geshiv, TeagaTg i 9ga o qeumronsii sl sefier
Fd & | feogoft Hifvng |

Phenomenological perspectives in sociology reject many of the
assumptions of positivism. Comment.

AT % ‘SreTEaTe % g #1 AelHIes gedish HiRrg |

Critically assess the Marxian theory of ‘Alienation’.

g gftads o qred aeTioes O il 8 T 1 a9 % ®9 ° O
27?7
How does Marx view social conflict as an essential element in social

change ?

TS & o W om & fom-fausq & g 9@ awa a8 € 2

What is the impact of gender division of labour on the development of
society ?

qhggur shifsre for ammifores 3TEial &1 3= 8 BT ® | 3TTEN dfgd WP
Hifse |

Examine how social movements come to an end. Illustrate with
examples.
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